4 | g B < 2 1

REWVISIONS
STANDARD-LIFT TRACK DETAILS e —0*
MAX 14 8 wIDE X 18 D HIGH REV., NO.| ZOME: DATE: ECHN NOQ.| APPVD: DESCRIPTION
HORIZONTAL TRACK END HANGER BRACKET il . _ -
ARERL L DN AL LCR :DGI::DSLS521VW8LA12[}W§ OEPEiTHE HE*%?T'HB rCOSTWB — e il e
NOTE: DOUBLE TRACK MODEL ' ' : ' 03 - | o8/2012 - — | rEwisED FOR TOI
HEADROOM, Hi-LIFT
TRACK, FOLLOW-THE- f 04 - 08/2016 - - REMOVED WIND SPEED TABLE.
ROOF TRACK, AND (] \‘\//\\\//\\.//\\/ GALW STEEL TRACK SECTIDNS - 1* OVERLAP
VERTICAL LIFT TRACK ARE /// = ORIZONTAL - 14 GA MIN, CEACH S10E3 DPTIONAL STOP MOULDING BY DODR INSTALLER (TO SUITX SECTION 1 - 1
AVBNARLE OPTIONS 3 D EREEREE SECTIONS ARE 1-7/8° THK PANELS ROLL .
i TALL % 20 GA. GALV., STEEL U-BAR.
TRACK ALSO AVAILASLE. Z J FORMED DF 022 MIN. HOT DIPPED G-40 /am \”ELET STRENGTH SOKSI. ATTACHED
/| 16 GA. MIN. GaLV. STEEL END STILE FASTEMED TO DDDR SKIN GALVANIZING, ROLL FORMED STEEL. OME AT THE TOP OF EACH SECTION EACH
: WITH TOG-L-LOC SYSTEM AT TDF, BOTTOM AND CENTER. U—BAR ATTACHED WITH (2) 1/4"x3/4"
EROM LAST OUNTING 18 GA. MIN. GALV. STEEL INTERMEDIATE STILE SELE ARRING SENENSCEER STRE
THERN YELLOW Pyt b . - LW, LOCATION,
SLOT TO TRACK JUNCTION EJD#,'E Ema BE\,. i E FASTENED TO DOOR SKIN WITH TOG-L-LOC SYSTEM AT [:,;,SG{”?EQS,’;‘EE,EP;QE gg’”&ﬁgﬂ,ﬁ”ﬁsﬁﬁgﬂ
- T —— DTHERS . /_ TDP_IBDTTDM AND EACH MAJOR RIB. L
HEIGHT TRACK SECTIONE
- _ LER BRACKET OF
WERTICAL - 0.083 MIN ) ] / SECTION P 2 fg.}gashmgﬁrfg} ESLINSTP-LLED L
VERTICAL TRACK TO BE CORER A AT THE S DOOR WITH (4) 14 X 5/8" LG SHEET
CONTINUOUS ANGLE OR DISTAMCES AS THE TRACK BOLTS \ 14 GA. GaLW. STEEL INTERMEDIATE HINGE. (SEE WIEW *B*» METAL SCREWS
DEVERSE ANGLE. TREUK, {LE. 3-1/2", 10", AND EVERY 7/16° PUSHNUT INSTALLED DN ROLLER SHAFT
1-3/4"x2—1/4"12 GA MIN. 12" ALSO TWO LAG SCREWS OME 4" 14 GA, C—CHANNEL PER
i ﬂL%zTFg::KGELI-_JrPSS‘I:A&E 21"1;‘,.-;2 LOCATED ABOVE 14 GA. CGALW. STEEL (ENMD)» HINGE. <SEE WIEW "A% DOOR SECTION. (1) 1/4™ X 3/4"
12+ TYPICAL L ADE Ring o WAL RO S Bt 2" LONG STEM ROLLERS FEATURE 10> 1/4° DIA. STEEL BALL BEARINGS FULL SELF TAPPING SCREW PER
[ __CTR-CTR WITH EITHER TWO 1/4" RIVETS : FLOATING IN CASE HARDENED STEEL RACES STILE. {SEE VIEW "D7)
W OR ONE 174 BOLT AND HNUT.
] L_ il
RE U—BAR. SEE SECTION 1—1 MAJOR RIBS NOT SHOWN FOR CLARITY ) 1-1/8"WIDE X 16 GA. GALV.
AVAILABLE [N 3" TAPERED REWERSE ANGLE TRACK. FOR MOUNTING DETAILS S'I'R‘AF' (9) PER DOOR SECTION.
TRACK BOLT AND LAG SCREW SPACING 3-1/2,° CHOUNTINE DETHILS . B - % EACH STRAP ATTACHED WITH (3)
10" AND EVERY 12* AS NOTED ABOWE. ' I DOUBLE END STILE 1;4 X 374" SELF TAPPING SCREWS.
| 1 /_ TWO SCREWS TO DOOR, OME SCREW
T TO C-CHANNEL.
wasr MUMBER OF
DOOR HEIGHT A
SECTIONS C—-CHANMEL. SEE SECTION 1-1 ——| i
Br-0" 4 FOR MOUNTING DETAILS AND i
!%“—g' ';H’R;L.I ]Ue'-ﬂu' 2 SPECIFICATIONS. '
‘~3* THRU 12'-0" T 3 / END HINGE. SEE DETAILS AT WVIEW "A"
12-3" THRU 14'-0" 7 | TOMGUE & GROOVE JOINT
147-3° THRU 16°-0" g 1 t
16’-3" THRU 18'-0" 9 = =
MAX. SECTION HEIGHT: 24" ! 5 - il
#14x5/8" SHEET METAL SCREWS s A T [__4_,
) . ™ MIN. TWO POINT LoCKING | L
> 1/4"x3/4" SELF - REQ'D. EACH SLIDE LOCK
P REWS. ATTACHED WITH {2)
2 TAPPING SCREWS . 1/4"x3/4" STS. I -
VIE@W DQE&E END HINGES 14 GA INTERM T:TIE:M - : j ¥ Sl
ATTACH OM EACH HINGE AS SHOWN: ATIACH ON EACH HINGE AS SHOWN: T T L
{4) #14 K 5/8" LG. SHT. MTL. SCREWS AND (4) 174" % S/B"SHEET METAL SCREWS TYP. Wi NTELD STRENGTH S0KSI
{2) 1/4"3/4" SELF-TAPPING SCREWS. )
— MAX., DOOR WIDTH: 14-2
AMCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM
ON-CENTER DISTAMCE. HIGHEST AMNCHOR IMNSTALLED AT LEAST AS HIGH AS THE DOOR OPEMING. BOTTOM SECTION REINFORCED X
WOOD JAMB ON COMNCRETE COMCRETE JAMBS STEEL JAMBS | wooD JamBs WITH TEMPERED ALUMINUM
2,000 PSI MIN 2,000 PSI MIN 34167 MIN, STEEL - - /{ RETE:EEUES'géq ;Eg;azfsﬁs:t BOTTOM ROLLER BRACKET OF 13 GA.
CONCRETE CONCRETE JAMB 3/87x1-1,/2" MIN. . ASTRAGAL MIN, GALV. STEEL, FASTEMED WITH (4)
348" DiA x 1-1/2" EMBED EM?EE—-LT..&?H?RE “émg. «E OF 5. "'| #14 % 5/8" LG SHT. MTL. SCREWS
B . - - 1/4"63,/4" o” WARK wEﬂTERHELD PE oy
MIN, SLEEVE ANCHOR 1/4%k1-1,/2" MIN, MAY BE BACK-FILLED 207 MAX. O.C. TO -4 : = MANUF ACTURING PRDDUCT CODE:
e ol EmE*D B WITH CONCRETE. BUT gg;lrt“'{.u?glnc SECURE 2x6 WOOD mem PE:. No. 48495, ';.? 2 -,\ DESIGN LOADS: +50 & -56 P.S.F. MPC: C—PAN-1E448
12* MAX. O.C. COMCRETE ANCHOR. NOT REQUIRED FOR L O JAMB TO WoOD Fef. #23f 2 TENAS F’ E- !}‘15 ,5 TEST LOADS: +75 & -84 P.S.F.
T0 SECURE 245 JAMB 1° WASHER REQD. SELF TAFPING SCREW. To SECURE i I, - : : TR Tioke Doviseard e
TO CONCRETE. 10" MAX. O.C. AHGLE TO : O E . ﬁpiess toted Otherwise | D I}I g HHedﬁngva?Ech WINDLOAD RATI
C'SINK IF_NEEDED. TO SECURE ANGLE STEEL JAME. = TOL& "E"NCES ore | ﬂpay Tegsu;d 513-770-4800 \J\/
BN TELBINEAEE. | e oesioy op/HE T C Building Producls Co Fax No. 513-770-4853
3 MIN. EDGE DIST. UPPU‘R“NG SFRUC“JRQL 0 = +.03 g ucls Lomporny ax N
BRACKET MOUNT OF CONTHUOUS BRACKET MOUNT OR CONTINUQUS e e S G L ;{533 = :gég DESCRIPTION:  COMMERCIAL RIBBED DOOR, +50/-56 PSF DESIGN LOAD
AN MOUNT TRACK FASTEMNED ANGLE MOUMNT TRACK FASTEMED S P = .
T0 Zx6 §2 OR BETTER T0 2%6 §2 OR BETTER B LDI?&F”?”&EE{EE 1.« Dofo = +.001 DRAWN BY: BFA DATE: 09/27,/04 SCALE: N/A DWG.
YELLOW PINE JAMB WTH REVERSE OR CONTINUQUS REVERSE 0R CONTINUOUS YELLOW PINE JAME WITH HI ) = .
ONE 5/167x1-5/8" LG. ANGLE MOUNT TRACK ANGLE MOUNT TRACK ONE 5/16°%1-5,/8" LG, & ? e . * Degrkes = :1/2  [CHECKED BY: MWW DATE: 11/02/04 SHEET 1 OF 1 |SIZE
LAG SCREW PER BRACKET FASTENED DIRECTLY FASTENED DIRECTLY LAG SCREW PER BRACKET "",;,.'J - 3% |Udless Stoled Otherwise R: 01
OR TRACK CUP LOCATION. TO CONCRETE. T0 STEEL JAME. | ©OR TRACK CUP LOCATION, worray ©7T 0 CDIMENSIONS ARE N INCHES.[OWG. NO.: 103288 VER:

4 2 A T :



